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Aun 4572 quaretwise, Arcl Asym: Bearn ON, Laser OFF Aun 4572 quarebwise, LSBT Acym: Baam O, Lasar OFF
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Hun 4572 quanetwise, UISbe2 Acym: Baarm ON, Laser OFF Hun 4672 quanetwise, DSby1 Asym: Baarm 0N, Lasar OFF
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Flun 4572 euanebwise, DSbg2 Asym: Baam ON, Lasar OFF Fun 4572 quanetwise. Tap Fngar Aty Baarn OM, Laser OFF
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45T Auenetwioe, Soe T Reym Bewm N amer O (e e Acc0 Asym (ppt): -4585.31 +/- 185.86
' i USbg1 Asym (ppt): 32.05 +/- 2.52
USbg2 Asym (ppt): 13.52 +/- 1.17
DSbg1 Asym (ppt): 22.89 +/- 0.57
DSbg2 Asym (ppt): 20.73 +/- 0.54
Top Finger Asym (ppt): -0.12 +/- 1.23
Side Finger Asym (ppt): 1.97 +/- 0.92
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Run 4572, guartetwisae: LISbg1 vs tima
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Run 4572, guartetwise: vertFing vs tima
1300 — +
+* +
I + +
| + +
+ + + + + +
p— * + + +* + + + + + +* *++
1m|} + * + + ++ + + + + + + ++ + + + ++ +
Fr + + = = o+ o+ ++ -+ o+ HEE o+ ++ +  F + + + + + o H
RE_ - o+ H+ W - + = HHE R W - L J - H-H . + ++d+ + 4 HE + 4 = o+ -
+ &+ 4+ + 4+ HY HHE - A HEH + + + 4+ O+ o+ HHH A H R+ R4 H R N
HHH - + +H + - HE H HH+ HHE - H
HHEHE-H-H - H HHHEHH - HEEHHH-EHH-HHHE - -
-

801

&0

400

HEHEEEHEE - - - - HEHEH - HHHE HHEHEHEE - -
'I"I'I"I'I‘HH’I'I“"I’I‘I.’I’I- had = + + + AR e
Em -+ HE = e H o+ o+ + + + Lo +H ++F ++ ¥ + ++EHE +
+++ - + - + + + + + -+ + + + ++ + + + + +
H + ++ + + + + + + H +
+ . + + + + + + +
l:l 1 1 1 1 I 1 1 1 I 1 1 1 I 1 1 I 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1
a 10000 20000 A00L0 40000 SO000 G000 FOOL0

Run 4572, guartetwisae: LIShg2 vs tima
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Run 4572, quartetwise: DSbg2 vs time
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Run 4572, quartetwise: horizFing vs tima
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